RieZEEH

REXHL

R6F 1T EE193E4# FHEHIIthih
(FAR) B/ \FO—)LEK




Kk

B NFRE

kW4 R6&ELE [EiE1 9 35 FHE)M (FF) EE b —L¥E5 ¥ M R
H OB HEH X b — LR
HHE - THE - fER - Al FAE = iva S A X 1| S - SRR e
BIR/N N 2 — U Ze iR
EREINCES
= 1
TevHs 15
Jia] 12
R ey
E30 1
S g B A H 35
H 243
FLEIRRKE (1K) H45
h 10
FLEIRKE] (R L) H 55
h 10
BB
= 1
/R B — L R H 6 5
km 26, 730
{EE ARk W15
= 1
% AR GRHRBY T+ B T) *a/ (1 — ) =]
%(Dﬂﬁ#ﬁ% Iazzé% (ﬂrﬁﬂﬁﬁj/\ biifvjliﬁ%é)\ﬁ—'i‘iliﬂl%?%) W 2%
= 1
B
Y 1
MEEEE
= 1




Kk

AEE N

ARE

s |[R6& 1 EE 1935 SEITf (R B/ S b — LB ¥ M EE32
H H BN b —VER
JEE - TR - RRR - HR s BifT e H L KR - SAERR e
ERTr R OKB) Ttk Gl N 3
= 1
EB7
Y 1
BT
= 1
T B P F 4 28
= 1 10%
Aat
= 1




A AR H 2024. 02
1 ij\ Ij;J = =B 43 A4 A 2024. 02
AN=] S AR S 1. 000-00000 0.0 0
) L5 (R PR
A - Bk St Hif % B BH fg
(LR R
s AR
At
A 4R H 2024. 02
1 ij\ Ij;J §R = b 4] 2024. 02
AN=] TGRS 1. 000-00000 0.0 0
] 25| = it
K - Bk 51 BN HAA SHR s
O B2 N2 (U S B Tl BB Rl * o /(1 — @)
a=20% (SRS S 1 — U IT4R D AR T8 o) =
&t
— 1 —
L 4R H 2024. 02
1 Db\ Ij;J =3 =B i 7] 2024. 02
VAN ] R 1. 000-00000 0.0 0
2] RESAE RS
ZR - Bk EGE HLAL Hifh x| bES




AL 30 2 TR A

CGELAEE A2 (U BEB) T+ LB R + 2 OfRe#8) * (B / (1-8))

B =25%

RIS ) D Rl R 2

A A2 RSV SE B R+l ISR+ (R R ERIGOREL) +27%

ks




B A4 H 2024. 02
1 ij\ 4 'fﬂﬁi’% A AR H 2024. 02
E‘ TSRS 1.000-00000 0.0 0
H L5 [FT A i . o o
Bl =] L=tk s Bl
12
L - Bk {4 2iva Y HA &R e
alE=¢53i1
A 1.50 0.125 A/ [fl*12
At
HLAT M./
HiffE 4 H 2024. 02
1 YJH\ N4 'fﬂﬁ% A AR H 2024. 02
E‘ T RS 1. 000-00000 0.0 0
B 25 |fEE - R ) -
CER ] B2 LA 43 HAM
1
KT - HE (a3 BT Bk LXi &R Y
IR 3]
A
ey
X M./ ¥




1 R HLEE

B A4 H 2024. 02
A AR H 2024. 02
TSRS 1.000-00000 0.0 0

B 35 [ R R )
B A Letiva~ gy Bl
0
L - Bk B 2iva Y HA &R e
&8 T
A 1
(35
A 1
At
X M/ A
At 4= H 2024. 02
1 YJH\ N4 'fﬂﬁ i% A AR H 2024. 02
E‘ T RS 1. 000-00000 0.0 0
B 495 [ BaeekEl (5ER) ¥
HL(T 7 B $ HLT
0
KT - HE etk BT Bk LXi &R Y
HEBT R FLUE B AR/ SRR R+ FEAAG R AR L
TR EIRI=150/100 A 1
RIE¥ER (FR) FLUE B AR/ SRR R+ FEAAG R AR L
TR EIRI=150/100 A 1
At
B M,/ e




1 R HLEE

B A4 H 2024. 02
A AR H 2024. 02
TSRS 1.000-00000 0.0 0

W 5[ SEREKE (GRELSL) )
B I f HALH R it
A - B =303 Hify Bl A B i
EB T (RS FEVE [R5 1/ 8 RIS MEI S A P L
WS EIHE=125/100 A 1
EEAEER (RELSH) FEHE [ R 1/ 8 RSB S A P L
WS EIHE=125/100 A 1
Ak
HAT /R
R A 2024. 02
1 YJH\ 4 'ﬂﬂj% A AR A 2024. 02
E‘ 555 AR AL 1. 000-00000 0.0 0
B 6|/ b e LR
HAlG km LR o HLAlG
AR - BUE =303 HifL Bk i g il 2%
Yy
VE 29— L 0.1
AR B E200EL PN
EM 1
Gl
HAAf M./ km

=
CEr
B

S
2




RREH—ER

5% R6EL EE1935H SN (FR) Mk ho— L%
£ R& B B {f ws
EERRH = 166,710 | R FEWM BN EESE
eSS
HLfH R (A — LU R o))
PPN EAict 14z o% IR
SHREE 1z > MEHIR
R EE 144122%5005 2L -
il PREARL
SRR AR HlRRZ2 L




